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What was the theory put forward by Lamarck?
a) Creationism b) Evolution c) Struggle for existence  d) Transformism

The theory of natural selection was simultaneously invented by Charles Darwin and
a) Alfred Russel Wallace c¢) Thomas Henry Huxley
b) Jean-Baptise Lamarck d)  Smith Andersen Folk

Fossils are the history of life. Life is thought to have originated approximately
a) Two billion years ago c) Three and a half billion years ago
b) Five and a half million yearsago d) Six hundred million years ago

Catastrophism, meaning the regular occurrence of geological or meteorological disturbances
(catastrophes), was Cuvier's attempt to explain the existence of
a) evolution b) the fossil record ¢) uniformitarianism d) natural selection

If additive variance for a character is 3 and total phenotypic variance is 6, then what is the
heritability of the character?
a) 2 b) 05 c) 0.33 d 0.1

The virulence of a parasite is measured by

a) The extinction rate of the host species

b) The extinction rate of the infected species

c) The number of offspring fathered by an average male parasite
d) The survival of infected relative to uninfected hosts

The number of legs an insect has, the number of vertebrae in a vertebral column, or the number of
joints in a digit (such as a finger) are all strongly influenced by
a) haploid genomes b) heterotic genes c) heterogeneous genes  d) Hox genes

How are matter and energy used in ecosystems?

a) Energy is cycled through ecosystems; matter is not

b) Energy can be converted into matter; matter cannot be converted into energy
c) Matter is cycled through ecosystems; energy is not
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d) Matter can be converted into energy; energy cannot be converted into matter

Which of the following are important biotic factors that can affect the structure and organization of
biological communities?

a) nutrient availability, soil pH C) precipitation, wind

b) predation, competition d) temperature, water

What is one characteristic that separates chordates from all other animals?
a) bilateral symmetry c) post-anal tail
b) blastopore, which becomes the anus d) true coelom

Chordate pharyngeal slits appear to have functioned first as
a) the digestive system's opening c) components of the jaw
b) suspension-feeding devices d) gill slits for respiration

The earliest known mineralized structures in vertebrates are associated with which function?
a) defense b) feeding c) locomotion d) reproduction

Monkeys of South and Central America have prehensile tails, meaning that their tails can be used to
grasp objects. The tails of African and Asian monkeys are not prehensile. Which discipline is most
likely to provide an evolutionary explanation for how this difference in tails came about?

a) Aerodynamics b) Biochemistry c) Biogeography d) Physiology

If, on average, 46% of the loci in a species’ gene pool are heterozygous, then the average
homozygosity of the species should be
a) 23% b) 46% c) 54% d) 92%

A 74 5 AABBCC e 2 17 aabbccsr 2 322 » A 2 e Fo * fook & AT % 5 18 7 1) ehfi $h 5
a) - k4 b)) % ¢ T4 d S

RS ¢ AT X A o A bb BB Bb A W AE ~ Tietmd o G
PEd s 4 WA A T3 R An ] wirl B E ¢ ] R o in ) et £
a) D RAEREZ -0 ) 2 LEERA DL
b) &5 epRezep- d) spsegs 4o X




CES AN T B REEY Y R TR ST

AET I P ERT Y AT KL B -] ol e
PG ER R ML Diote *4F 0 F3F

17. P A dFerd end B3 e R Ao w L AAfraa #5232 B2ad NigHka

3 'I}g’;?m}? e
a) 12 by U4 ¢ 116 d) 132

18. THIE T o AMEEEA 0 b bR RO BT AR > T IR At P A

]
| I I |

20 23 26 2932353841

&K (C)

a) "EEEOERGITF FR L AER

b) ° Pk R L e B

C) hd ppE o U pEEemiEp L oTe pER
d) © A b (€7 R L 40T

19. B &prid 4 F s (PCR) ¢ 42T 5|e B &7 ¢
(1)4c# % 95°C i @ % DNA A 3o s Hode
(Q)F & pr#-Pipe ik B 4e 315
(3)DNA o & 3% & & w 3%
(4)*% 38 1 313 22 $4F DNA e ¥t
W F EAROE R R SR
a) (LAE)H b) (1()(2)(4) c) (DAE) d)  (2)(1)4)

20, TAVR- LB F ek Al 0 dwve N ATP § B §EFH 4 ?

a) EREE R L P ) ‘RAMERL R
b) FapLaE R G R d) FEmEg:-F

21. kP - £ enimie o dovep B4 S 0 BB BH G S G R R ?

a) F|5 H AT F C) FA F AP 3R
b) FA A FART F d) Fa ¥ A FRAT

22. 3 301 4 F et b B60 M A+ chrg dapkit & RITEE S Bris o XSS BRA S 7

a) 20 7595 > 20 kA3 c) 30 %% 30 B-ka+
b) 20 %3 % » 60 -k A 5 d) 30 757 60 B kA




SEE AT W N IEEY Y SR P St

Joot PLERT Y A R -1 B _Hu@d
POAE BRI LD DA oA $A4F 0 F 4T
23. A eyl EpE o T SRR SRR % 2

a) A% b) I ) H® d) ] &

24. G R Priwre P SfE A E A gen FEORLRA 0 TR ALY
a) PPN TR N
b) ¥ 193‘;!&%’19]1\ FI? e SR —> o e v
C) PRtk SR —F A Sl i
d) PP TR S A

25. T35 F*E’%’“*‘#ﬁ*’ﬁ#*#ﬁm“i&’wiﬂ‘ T FE?
a) ¥ L3P E
b) % 17 DNA % @4 7

C) ¥EHHNMATP Z ki FF

d %57 griks Hiry 22 A

S FAE 34 £ 504

I

1. 124 ¥ 4t & (elongation or expansion) > = £2 tm*s ¥ J£ (Cytoskeleton) 7 i@ B 55 ? 2 4~ fm e af £ o
Er AL P 2 (20 A)

2. FERFERAFI T T 52 ’(1)1'—;14‘4;%@@" 4 pi 7 5 7 (A)Dark (B)R—dark (C) R—FR—
Dark (D)R—FR—R—FR (2)# &2vi—- X 485 B 2 (3)H F* 415 = ?2(15 »)

3. ™3} © + @ iL4#(Electron Transfer Chain) ‘? ‘.u%ggiw_ﬁag T BsES g R AR 2HT
F+ Bifsaans g LR ?(15 4)




